SYDNEY GIRLS HIGH SCHOOL

Year 11

HALF-YEARLY EXAMINATION
MAY 2008 MATHEMATICS
TIME ALLOWED 75 MINUTES

| Instructions

There are 4 questions:
Q1 —20 Marks
Q2-20 Mérks
Q3 - 17 Marks
Q4 - 18 Marks

Attempt all questions

Show all necessary working, marks may be deducted for badly arranged woik.

Start each question on a new page. Write on only one side of the paper.

Question 1 (20 MARKS)
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What number is halfway between %and %?
Evaluate |7] — |—3| X ~4

Write 0.036 as a simple fraction.

110% of a number is 84.7. What is the number?
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Express with a rational index i/xy’
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Question 2 (20 MARKS)

a) Expand and simplify
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i i 2x*+3x=7=0 (Leave your answers in exact form)
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b) Fully factorise the following \\
iv. Ix_3| =2x \
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b) Solve the following equations simultaneously
. 3x* +11x+10 2
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N ' | o) Solve the following inequalities. Graph each solution on a number line.
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Question 3 (17 MARKS)

a) Solve the following




Question 4 (18 Marks)

a) Find the value of the pronumerals, giving reasons for your answer 8

Les

63 .
) . i)
xcm
i) — | iv)
6cm
1 8cm
10 cm

b) Find the size of ZDFE

2
c) Ifthe exterior angles of a regular polygon are each 8’ , how many sides 2
are in the polygon
d) If the circle has a radius of 1cm, find the shaded area of the following 2
figure correct to one decimal place. ,
X ‘
BN ‘:
e) If AX.XB=CX XD, prove that ZXAC = ZXDB 4
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